Jefferson County Public Schools Bid Tabulation Event Name: UNIFORMS FOR STUDENTS Event ID: JCPS-8437 Approval Date: April 29, 2025 Date Bids Received: March 26, 2025 Contract Period: April 30, 2025 through April 29, 2026 Renewals: One (1) year renewal option Comments: Award Status indicates an award

Item Number	Item/Service	Description	Commodity Code	Vendor Name	иом	Quantity	Manufacturer / Provider	Manufacturer Part Number	Unit Bid Price	Total Price	Vendor Response Item Notes	Award Status	Award Notes
001	Trouser, boy's, sizes 4-18, first quality.	PRICE PER CASE. Acceptable fabric blends: cotton/polyester. Front zipper and fastener. The zipper must be heavy duty. Flat front hemmed. Colors: khak (tan) and Navy Blue. SAMPLE REQUIRED. Please state in the Vendor Sourcing Notes field: number of units per case.	4600975-2010065	wholesale schoolwear	1 - Case	40	Galaxy	XBF	210.0000	8400.00	case of 24 (as had)	Awarded	
002	Trouser, boy's, sizes 4-18, first quality.	PRICE PER INDIVIDUAL UNIT. Acceptable fabric blends: cotton/polyester. Front zipper and fastener. The zipper must be heavy duty. Flat front hemmed. Colors: Khaki (tan) and Navy Blue. SAMPLE REQUIRED.	4600975-1026540	wholesale schoolwear	1 - Each	400	Galaxy	XBF	8.7500	3500.00	case of 24 (as had)	Awarded	
003	Trouser, husky, boy's, sizes 6-18, first quality. Must be husky pants.	PRICE PER CASE. Acceptable fabric blends: cotton/polyester. Front zipper and fastener. The zipper must be heavy duty. Flat front, hemmed. Colors: Khaki (tan) and Navy Blue. SAMPLE REQUIRED. Please state in the Vendor Sourcing Notes field: number of units per case.	4600975-2013395	wholesale schoolwear	1 - Case	12	Galaxy	FXH	216.0000	2592.00	case of 24 (as had)	Awarded	
004	Trouser, husky, boy's, sizes 6-18, first quality. Must be husky pants.	PRICE PER INDIVIDUAL UNIT. Acceptable fabric blends: cotton/polyester. Front zipper and fastener. The zipper must be heavy duty. Flat front, hemmed. Colors: Khaki (tan) and Navy Blue. SAMPLE REQUIRED.	4600975-1026541	wholesale schoolwear	1 - Each	100	Galaxy	FXH	9.0000	900.00	case of 24 (as had)	Awarded	
005	Trouser, girl's, sizes 4-18, first quality.	PRICE PER CASE. Acceptable fabric blends: cotton/polyester. Front zipper and fastener. The zipper must be heavy duty. Flat front, hemmed. Colors: Khaki (tan) and Navy Blue. SAMPLE REQUIRED.	4600975-2010235	wholesale schoolwear	1 - Case	40	Galaxy	FFNP	210.0000	8400.00	case of 24 (as had)	Awarded	
006	Trouser, girl's, sizes 4-18, first quality.	PRICE PER INDIVIDUAL UNIT. Acceptable fabric blends: cotton/polyester. Front zipper and fastener. The zipper must be heavy duty. Flat front, hemmed. Colors: Khaki (tan) and Navy Blue. SAMPLE REQUIRED.	4600975-1026542	wholesale schoolwear	1 - Each	400	Galaxy	FFNP	8.7500	3500.00	case of 24 (as had)	Awarded	
007	Trouser, husky, girl's, sizes 6-18, first quality. Must be husky pants.	PRICE PER CASE. Acceptable fabric blends: cotton/polyester. Front zipper and fastener. The zipper must be heavy duty. Flat front, hemmed. Colors: Khaki (tan) and Navy Blue. SAMPLE REQUIRED.	4600975-2013396	wholesale schoolwear	1 - Case	13	Galaxy	FKPX	216.0000	2808.00	case of 24 (as had)	Awarded	
008	Trouser, husky, girl's, sizes 6-18, first quality. Must be husky pants.	PRICE PER INDIVIDUAL UNIT. Acceptable fabric blends: cotton/polyester. Front zipper and fastener. The zipper must be heavy duty. Flat front, hemmed. Colors: Khaki (tan) and Navy Blue. SAMPLE REQUIRED.	4600975-1026543	wholesale schoolwear	1 - Each	90	Galaxy	FKPX	9.0000	810.00	case of 24 (as had)	Awarded	
009	Trouser, Junior's, girl's, sizes 1/2-15/16, first quality. Must be Junior sizes.	PRICE PER CASE. Acceptable fabric blends: cotton/polyester. Front zipper and fastener. The zipper must be heavy duty. Flat front, hemmed. No stretch trousers. Colors: Khaki (tan) and Navy Blue. SAMPLE REQUIRED.	4600975-2013397	wholesale schoolwear	1 - Case	13	Galaxy	JFP	258.0000	3354.00	case of 24 (as had)	Awarded	
010	Trouser, Junior's, girl's, sizes 1/2-15/16, first quality. Must be Junior sizes.	PRICE PER INDIVIDUAL UNIT. Acceptable fabric blends: cotton/polyester. Front zipper and fastener. The zipper must be heavy duty. Flat front, hemmed. No stretch trousers. Colors: Khaki (tan) and Navy Blue. SAMPLE REQUIRED.	4600975-1026544	wholesale schoolwear	1 - Each	90	Galaxy	JFP	10.7500	967.50	case of 24 (as had)	Awarded	
011	Trouser, men's, sizes 30"-52", first quality.	PRICE PER CASE. Acceptable fabric blends: cotton/polyester. Front zipper and fastener. The zipper must be heavy duty. Flat front, hemmed in lengths specified at time of order. Colors: Khaki (tan) and Navy Blue. SAMPLE REQUIRED.	4600975-2010236	wholesale schoolwear	1 - Case	18	Galaxy	MFP	258.0000	4644.00	case of 24 (as had)	Awarded	
012	Trouser, men's, sizes 30"-52", first quality.	PRICE PER INDIVIDUAL UNIT. Acceptable fabric blends: cotton/polyester. Front zipper and fastener. The zipper must be heavy duty. Flat front, hemmed in lengths specified at time of order. Colors: Khaki (tan) and Navy Blue. SAMPLE REQUIRED.	4600975-1026545	wholesale schoolwear	1 - Each	65	Galaxy	MFP	10.7500	698.75	case of 24 (as had)	Awarded	

013	Trouser, junior's plus, sizes 16-24, first quality.	PRICE PER CASE. Acceptable fabric blends: cotton/polyester. Front zipper and fastener. The zipper must be heavy duty. Flat front, hemmed. Colors: Khaki (tan) and Navy Blue. SAMPLE REQUIRED.	4600975-2010237	wholesale schoolwear	1 - Case	3	Galaxy	JPFX	264.0000	792.00	case of 24 (as had)	Awarded	
014	Trouser, junior's plus, sizes 16-24, first quality.	PRICE PER INDIVIDUAL UNIT. Acceptable fabric blends: cotton/polyester. Front zipper and fastener. The zipper must be heavy duty. Flat front, hemmed. Colors: Khaki (tan) and Navy Blue. SAMPLE REQUIRED.	4600975-1026546	wholesale schoolwear	1 - Each	25	Galaxy	JPFX	11.0000	275.00	case of 24 (as had)	Awarded	
015	Shirt, polo, youth, sizes XS-XL, 50% cotton, 50% polyester, Jersey knit.	PRICE PER CASE. Two buttons, short sleeves and pointed collar. Colors: White, Black, Forest Green, Red, Navy Blue, Gray, Orange, Purple and Light Blue. Gildan 8800B. NO SUBSTITUTE.	4600975-2010067	wholesale schoolwear	1 - Case	60	Galaxy	XBE	216.0000	12960.00	case of 36 (as had) 60% Cotton 40% Polyester		Reject - alternate product bid not acceptable.
015	Shirt, polo, youth, sizes XS-XL, 50% cotton, 50% polyester, Jersey knit.	PRICE PER CASE. Two buttons, short sleeves and pointed collar. Colors: White, Black, Forest Green, Red, Navy Blue, Gray, Orange, Purple and Light Blue. Gildan 8800B. NO SUBSTITUTE.	4600975-2010067	Paix Creations	1 - Case	60	Gildan/ Paix Creations	8800B	275.4000	16524.00	The case size is 36 Polos per case	Awarded	Awarded as low bidder based on price per case.
015	Shirt, polo, youth, sizes XS-XL, 50% cotton, 50% polyester, Jersey knit.	PRICE PER CASE. Two buttons, short sleeves and pointed collar. Colors: White, Black, Forest Green, Red, Navy Blue, Gray, Orange, Purple and Light Blue. Gildan 8800B. NO SUBSTITUTE.	4600975-2010067	Alan Hyman Enterprises, Inc.	1 - Case	60	Gildan	G8800B	7.8000	468.00	Case - 36 (\$280.80)		
016	Shirt, polo, youth, sizes XS-XL, 50% cotton, 50% polyester, Jersey knit.	PRICE PER INDIVIDUAL UNIT. Two buttons, short sleeves and pointed collar. Colors: White, Black, Forest Green, Red, Navy Blue, Gray, Orange, Purple and Light Blue. Gildan 8800B. NO SUBSTITUTE.	4600975-1026547	wholesale schoolwear	1 - Each	1500	Galaxy	XBE	6.0000	9000.00	case of 36 (as had) 60% Cotton 40% Polyester		Reject - alternate product bid not acceptable.
016	Shirt, polo, youth, sizes X5-XL, 50% cotton, 50% polyester, Jersey knit.	PRICE PER INDIVIDUAL UNIT. Two buttons, short sleeves and pointed collar. Colors: White, Black, Forest Green, Red, Navy Blue, Gray, Orange, Purple and Light Blue. Gildan 8800B. NO SUBSTITUTE.	4600975-1026547	Paix Creations	1 - Each	1500	Gildan/ Paix Creations	8800B	7.6500	11475.00	All our items, include front printing	Awarded	Awarded as low bidder based on price per unit.
016	Shirt, polo, youth, sizes XS-XL, 50% cotton, 50% polyester, Jersey knit.	PRICE PER INDIVIDUAL UNIT. Two buttons, short sleeves and pointed collar. Colors: White, Black, Forest Green, Red, Navy Blue, Gray, Orange, Purple and Light Blue. Gildan 8800B. NO SUBSTITUTE.	4600975-1026547	Alan Hyman Enterprises, Inc.	1 - Each	1500	Gildan	G8800B	7.8000	11700.00			
017	Shirt, polo, adult, sizes S-XL, 50% cotton, 50% polyester, Jersey knit.	PRICE PER CASE. Three buttons, short sleeves and pointed collar. Colors: White, Black, Forest Green, Navy Blue, Light blue, Gray, Purple, Orange and Red. NO Gildan 8800. SUBSTITUTE.	4600975-2010238	wholesale schoolwear	1 - Case	40	Galaxy	MPQ	270.0000	10800.00	case of 36 (as had) 60% Cotton 40% Polyester		Reject - alternate product bid not acceptable.
017	Shirt, polo, adult, sizes S-XL, 50% cotton, 50% polyester, Jersey knit.	PRICE PER CASE. Three buttons, short sleeves and pointed collar. Colors: White, Black, Forest Green, Navy Blue, Light blue, Gray, Purple, Orange and Red. NO Gildan 8800. SUBSTITUTE.	4600975-2010238	Paix Creations	1 - Case	40	Port and Company/ Paix Creations	KP55	306.0000	12240.00	The case size is 36 POLOS		Reject - alternate product bid not acceptable.
017	Shirt, polo, adult, sizes S-XL, 50% cotton, 50% polyester, Jersey knit.	PRICE PER CASE. Three buttons, short sleeves and pointed collar. Colors: White, Black, Forest Green, Navy Blue, Light blue, Gray, Purple, Orange and Red. NO Gildan 8800. SUBSTITUTE.	4600975-2010238	Alan Hyman Enterprises, Inc.	1 - Case	40	Gildan	G8800	8.6500	346.00	Case - 36 (\$311.40)	Awarded	Awarded as low bidder based on price per case.
018	Shirt, polo, adult, sizes S-XL, 50% cotton, 50% polyester, Jersey knit.	PRICE PER INDIVIDUAL UNIT. Three buttons, short sleeves and pointed collar. Colors: White, Black, Forest Green, Navy Blue, Light blue, Gray, Purple, Orange and Red. Gildan 8800. NO SUBSTITUTE.	4600975-1026548	wholesale schoolwear	1 - Each	500	Galaxy	MPQ	7.5000	3750.00	case of 36 (as had) 60% Cotton 40% Polyester		Reject - alternate product bid not acceptable.
018	Shirt, polo, adult, sizes S-XL, 50% cotton, 50% polyester, Jersey knit.	PRICE PER INDIVIDUAL UNIT. Three buttons, short sleeves and pointed collar. Colors: White, Black, Forest Green, Navy Blue, Light blue, Gray, Purple, Orange and Red. Gildan 8800. NO SUBSTITUTE.	4600975-1026548	Paix Creations	1 - Each	500	Gildan/ Paix Creations	8800	8.5000	4250.00		Awarded	Awarded as low bidder based on price per unit.
018	Shirt, polo, adult, sizes S-XL, 50% cotton, 50% polyester, Jersey knit.	PRICE PER INDIVIDUAL UNIT. Three buttons, short sleeves and pointed collar. Colors: White, Black, Forest Green, Navy Blue, Light blue, Gray, Purple, Orange and Red. Gildan 8800. NO SUBSTITUTE.	4600975-1026548	Alan Hyman Enterprises, Inc.	1 - Each	500	Gildan	G8800	8.6500	4325.00			

019	Shirt, polo, adult, size XXL, 50% cotton, 50% polyester, Jersey knit.	PRICE PER CASE. Three buttons, short sleeves and pointed collar. Colors: White, Black, Forest Green, Navy Blue, Light Blue, Gray, Purple, Orange and Red. Gildan 8800. NO SUBSTITUTE.	4600975-2010730	wholesale schoolwear	1 - Case	1	Galaxy	MPQ2	270.0000	270.00	case of 36 (as had) 60% Cotton 40% Polyester		Reject - alternate product bid not acceptable.
019	Shirt, polo, adult, size XXL, 50% cotton, 50% polyester, Jersey knit.	PRICE PER CASE. Three buttons, short sleeves and pointed collar. Colors: White, Black, Forest Green, Navy Blue, Light Blue, Gray, Purple, Orange and Red. Gildan 8800. NO SUBSTITUTE.	4600975-2010730	Paix Creations	1 - Case	1	Gildan/ Paix Creations	8800	378.0000	378.00	Case size is 36 units	Awarded	Awarded as low bidder based on price per case.
019	Shirt, polo, adult, size XXL, 50% cotton, 50% polyester, Jersey knit.	PRICE PER CASE. Three buttons, short sleeves and pointed collar. Colors: White, Black, Forest Green, Navy Blue, Light Blue, Gray, Purple, Orange and Red. Gildan 8800. NO SUBSTITUTE.	4600975-2010730	Alan Hyman Enterprises, Inc.	1 - Case	1	Gildan	G8800	10.9000	10.90		Case - 36 (\$392.40)	
020	Shirt, polo, adult, size XXL, 50% cotton, 50% polyester, Jersey knit.	PRICE PER INDIVIDUAL UNIT. Three buttons, short sleeves and pointed collar. Colors: White, Black, Forest Green, Navy Blue, Light Blue, Gray, Purple, Orange and Red. Gildan 8800. NO SUBSTITUTE.	4600975-1026549	wholesale schoolwear	1 - Each	45	Galaxy	MPQ2	7.5000	337.50	case of 36 (as had) 60% Cotton 40% Polyester		Reject - alternate product bid not acceptable.
020	Shirt, polo, adult, size XXL, 50% cotton, 50% polyester, Jersey knit.	PRICE PER INDIVIDUAL UNIT. Three buttons, short sleeves and pointed collar. Colors: White, Black, Forest Green, Navy Blue, Light Blue, Gray, Purple, Orange and Red. Gildan 8800. NO SUBSTITUTE.	4600975-1026549	Paix Creations	1 - Each	45	Gildan/ Paix Creations	8800	10.5000	472.50		Awarded	Awarded as low bidder based on price per unit.
020	Shirt, polo, adult, size XXL, 50% cotton, 50% polyester, Jersey knit.	PRICE PER INDIVIDUAL UNIT. Three buttons, short sleeves and pointed collar. Colors: White, Black, Forest Green, Navy Blue, Light Blue, Gray, Purple, Orange and Red. Gildan 8800. NO SUBSTITUTE.	4600975-1026549	Alan Hyman Enterprises, Inc.	1 - Each	45	Gildan	G8800	10.9000	490.50			
021	Shirt, polo, adult, size XXXL, 50% cotton, 50% polyester, Jersey knit.	PRICE PER CASE. Three buttons, short sleeves and pointed collar. Colors: White, Black, Forest Green, Navy blue, Light blue, Gray, Purple, Orange and Red. Glidan 8800. NO SUBSTITUTE.	4600975-2012193	wholesale schoolwear	1 - Case	1	Galaxy	MPQ3	306.0000	306.00	case of 36 (as had) 60% Cotton 40% Polyester		Reject - alternate product bid not acceptable.
021	Shirt, polo, adult, size XXXL, 50% cotton, 50% polyester, Jersey knit.	PRICE PER CASE. Three buttons, short sleeves and pointed collar. Colors: White, Black, Forest Green, Navy blue, Light blue, Gray, Purple, Orange and Red. Gildan 8800. NO SUBSTITUTE.	4600975-2012193	Paix Creations	1 - Case	1	Gildan/ Paix Creations	8800	432.0000	432.00	Case size is 36 units	Awarded	Awarded as low bidder based on price per case.
021	Shirt, polo, adult, size XXXL, 50% cotton, 50% polyester, Jersey knit.	PRICE PER CASE. Three buttons, short sleeves and pointed collar. Colors: White, Black, Forest Green, Navy blue, Light blue, Gray, Purple, Orange and Red. Gildan 8800. NO SUBSTITUTE.	4600975-2012193	Alan Hyman Enterprises, Inc.	1 - Case	1	Gildan	G8800	12.6500	12.65	Case - 36 (\$455.40)		
022	Shirt, polo, adult, size XXXL, 50% cotton, 50% polyester, Jersey knit.	PRICE PER INDIVIDUAL UNIT. Three buttons, short sleeves and pointed collar. Colors: White, Black, Forest Green, Navy blue, Light blue, Gray, Purple, Orange and Red. Gildan 8800. NO SUBSTITUTE.	4600975-1026550	wholesale schoolwear	1 - Each	10	Galaxy	MPQ3	8.5000	85.00	case of 36 (as had) 60% Cotton 40% Polyester		Reject - alternate product bid not acceptable.
022	Shirt, polo, adult, size XXXL, 50% cotton, 50% polyester, Jersey knit.	PRICE PER INDIVIDUAL UNIT. Three buttons, short sleeves and pointed collar. Colors: White, Black, Forest Green, Navy blue, Light blue, Gray, Purple, Orange and Red. Gildan 8800. NO SUBSTITUTE.	4600975-1026550	Paix Creations	1 - Each	10	Gildan/ Paix Creations	8800	12.0000	120.00		Awarded	Awarded as low bidder based on price per unit.
022	Shirt, polo, adult, size XXXL, 50% cotton, 50% polyester, Jersey knit.	PRICE PER INDIVIDUAL UNIT. Three buttons, short sleeves and pointed collar. Colors: White, Black, Forest Green, Navy blue, Light blue, Gray, Purple, Orange and Red. Gildan 8800. NO SUBSTITUTE.	4600975-1026550	Alan Hyman Enterprises, Inc.	1 - Each	10	Gildan	G8800	12.6500	126.50			
023	Shirt, polo, adult, size XXXXL, 50% cotton, 50% polyester, Jersey knit.	PRICE PER CASE. Three buttons, short sleeves and pointed collar. Colors: White, Black, Forest Green, Navy Blue, Light Blue, Gray, Purple, Orange and Red. Gildan 8800. NO SUBSTITUTE.	4600975-2012194	wholesale schoolwear	1 - Case	1	Galaxy	MPQ4	306.0000	306.00	case of 36 (as had) 60% Cotton 40% Polyester		Reject - alternate product bid not acceptable.
023	Shirt, polo, adult, size XXXXL, 50% cotton, 50% polyester, Jersey knit.	PRICE PER CASE. Three buttons, short sleeves and pointed collar. Colors: White, Black, Forest Green, Navy Blue, Light Blue, Gray, Purple, Orange and Red. Gildan 8800. NO SUBSTITUTE.	4600975-2012194	Paix Creations	1 - Case	1	Gildan/ Paix Creations	8800	432.0000	432.00	Case size is 36 units	Awarded	Awarded as low bidder based on price per case.

023	Shirt, polo, adult, size XXXXL, 50% cotton, 50% polyester, Jersey knit.	PRICE PER CASE. Three buttons, short sleeves and pointed collar. Colors: White, Black, Forest Green, Navy Blue, Light Blue, Gray, Purple, Orange and Red. Gildan 8800. NO SUBSTITUTE.	4600975-2012194	Alan Hyman Enterprises, Inc.	1 - Case	1	Gildan	G8800	12.6500	12.65	Case - 12 (\$151.80)		
024	Shirt, polo, adult, size XXXXL, 50% cotton, 50% polyester, Jersey knit.	PRICE PER INDIVIDUAL UNIT. Three buttons, short sleeves and pointed collar. Colors: White, Black, Forest Green, Navy Blue, Light Blue, Gray, Purple, Orange and Red. Gildan 8800. NO SUBSTITUTE.	4600975-1026541	wholesale schoolwear	1 - Each	10	Galaxy	MPQ4	8.5000	85.00	case of 36 (as had) 60% Cotton 40% Polyester		Reject - alternate product bid not acceptable.
024	Shirt, polo, adult, size XXXXL, 50% cotton, 50% polyester, Jersey knit.	PRICE PER INDIVIDUAL UNIT. Three buttons, short sleeves and pointed collar. Colors: White, Black, Forest Green, Navy Blue, Light Blue, Gray, Purple, Orange and Red. Gildan 8800. NO SUBSTITUTE.	4600975-1026541	Paix Creations	1 - Each	10	Gildan/ Paix Creations	8800	12.0000	120.00		Awarded	Awarded as low bidder based on price per unit.
024	Shirt, polo, adult, size XXXXL, 50% cotton, 50% polyester, Jersey knit.	PRICE PER INDIVIDUAL UNIT. Three buttons, short sleeves and pointed collar. Colors: White, Black, Forest Green, Navy Blue, Light Blue, Gray, Purple, Orange and Red. Gildan 8800. NO SUBSTITUTE.	4600975-1026541	Alan Hyman Enterprises, Inc.	1 - Each	10	Gildan	G8800	12.6500	126.50			

Jefferson County Public Schools

Award Summary

Event Name: UNIFORMS FOR STUDENTS

Event ID: JCPS-8437

Approval Date: April 29, 2025

Vendor	Bid Total	Award Total
Wholesale Schoolwear		
	\$79,540.7500	\$41,641.2500
Alan Hyman		
	\$17,618.7000	\$346.0000
Paix Creations		
	\$46,443.5000	\$34,203.5000